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2025 EFFH REHIL (MATH5012P)

—. (309%) K = Q(Vd), d # 1 &1V HTFHH.

1.(297) 5 Ok, Ak,

2.(597) BHERE p /£ K Tor8, 7032, IRIER) 78 22644
3.(353) d <0, 5t OF.

4.(59%) d = =5, iH5 hy; 3R 22+ 5 = 3 WBEEURE.

5.(4497) d =10, it O, iH5 hy.

6.(657) LR : 22 — 82y° = 2 54 FEEUAR(E T BEEUR

7.(597) EM: AESLE IEBE n, HAELTHT ZDAFR d,

13 hg > n.

 (159)) K = Q(V4), F=Q(v/-3), L=KF.

1.(293) UEBA: p 7E L o7 E2MHANY p=2,3.

2.(697) p >3, 5 p /£ L A RTRE 43 EIE X (e, £, 9);
3, 5 WA T X0 N R RN R p.

3.(457) WHH Ak, hye; B Ok, 05

4.(359) AEM: 23 + 23 4 423 — 6oy = 5 HIL T ZBER.

. (2557\) K = Q(CQQ),K+ 7 H RS2 119.

1.(39) 5 K KA k.

2.(247) 5t 2,5 £ K F 2L (e, £, 9).

3.(697) p #£2,5, 5 p /£ K HETA eI fIE R (e, f, 9);
BE—2, 5 AR TR 2O B ) BN R p.

4.(6%%) VW Ag, Aper, hyer

5.(29) E # KT 2KMUK T H Gal(E/Q) G,

it OF.

6.(649) FRKMETHHA Gal(F/Q) A& HE.

H5H Op; W& Ap, hp.



